Glasses
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This diagram shows three glasses (not drawn to scale). T y
The measurements are all in centimeters. 6 L \ Y

The volume of a cylinder = nir’h |

The volume of a sphere = 4nr’ axvaL

3
The volume of a cone = ar’h o~ o~
u 1 2

The bowl of glass 1 is cylindrical. The diameter is 5 cm and the height is 6 cm.

The bowl of glass 2 is a cylinder with a hemispherical bottom. The diameter is 6 cm and the height
of the cylinder is 3 cm.

The bowl of glass 3 is an inverted cone. The diameter is 6 cm and the slant height is 6 cm.

1. Find the vertical height of the bowl of glass 3. Show your work.
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2. Calculate the volume of the bo'wl of each of these glasses. Show your work.
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3. Find the height of liquid in Glass 2 when it is half full. Show your calculations.
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Glasses
—_8— —8
This diagram shows three glasses (not drawn to scale). KX T
The measurements are all in centimeters. 6
The volume of a cylinder = mr’h
The volume of a sphere = 4zr’ i
3
The volume of a cone = ur’h e
3
1 2

The bowl of glass 1 is cylindrical. The diameter is 5 cm and the height is 6 cm.

The bowl of glass 2 is a cylinder with a hemisphericai bottom. The diameter is 6 cm and the height
of the cylinder is 3 cm.

The bowl of glass 3 is an inverted cone. The diameter is 6 cm and the slant height is 6 cm.
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2. Calculate the volume of the bowl of each of these glasses. Show your work.
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1. Find the vertical height qf the bowl of glass 3. Show your work.
()

—

2LUILSTT e’

b. Glass 2 RN 25 %
s 4@% 214 18(\_\:?" 4'5(?[; cm?
x0T

T > 2 17
¢. Glass 3 (r\’ O\"@ .

Copyright © 2014 by Methematics Assessment Page 4 CCR1
Resource Service. All rights reserved.



3. Find the height of liquid in Glass 2 when it is half full. Show your calculations.

2

T2

cm

2. o

Q
0
A(‘gﬂ \
.
\ 5% T

&

42 T
— \

S o\ander
D~ &

v

Copyright © 2011 by Mathematics Assessment Page 5
Resource Service. All rights reserved.

CCR 1



Glasses

—5 —
This diagram shows three glasses (not drawn to scale). F::)

The measurements are all in centimeters.

The volume of a cylinder = nir’h

The volume of a sphere = 4nr’
3

The volume of a cone = nr’h

%

o

The bowl of glass 1 is cylindrical. The diameter is 5 cm and the height is 6 cm.

The bowl of glass 2 is a cylinder with a hemispherical bottom. The diameter is 6 cm and the height
of the cylinder is 3 cm.

The bowl of glass 3 is an inverted cone. The diameter is 6 cm and the slant height is 6 cm.

1. Find the vertical height of the bowl of glass 3. Show your work.
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2. Calculate the volume of the bowl of each of these glasses. Show your work.
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3. Find the height of liquid in Glass 2 when it is half full. Show your calculations.
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Glasses
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This diagram shows three glasses (not drawn to scale). [
The measurements are all in centimeters. 8

The volume of a cylinder = nr’h 1

The volume of a sphere = 4znr’

3
The volume of a cone = grh
3
1 2 3

The bowl of glass 1 is cylindrical. The diameter is 5 cm and the height is 6 cm.

The bowl of glass 2 is a cylinder with a hemispherical bottom. The diameter is 6 cm and the height
of the cylinder is 3 cm.

The bowl of glass 3 is an inverted cone. The diameter is 6 cm and the slant height is 6 cm.

1. Find the vertical height of the bowl of glass 3. Show your work.
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2. Calculate the volume of the bowl of each of these glasses. Show your work.
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- 3. Find the height of liquid in Glass 2 when it is half full. Show your calculations.
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Glasses

This diagram shows three glasses (not drawn to scale).

The measurements are all in centimeters.

The volume of a cylinder = nr’h
The volume of a sphere = 4xr’
3
The volume of a cone = ntr*h
3

The bowl of glass 1 is cylindrical. The diameter is S cm and the height is 6 cm.

The bowl of glass 2 is a cylinder with a hemispherical bottom. The diameter is 6 cm and the height
of the cylinder is 3 cm.

The bowl of glass 3 is an inverted cone. The diameter is 6 cm and the slant height is 6 cm.

1. Find the vertical height of the bowl of glass 3. Show your work.
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2. Calculate the volume of the bow] of each of these glasses. Show 5Zour work.
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3. Find the height of liquid in Glass 2 when it is half full. Show your calculations.
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